Drawing Straight Line Graphs Mark Scheme
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10 [1] Straight line drawn crossing the y-axis
aty =2
5 8 [1] gradient of 3 ( for every 1 across line
should go up by 3)
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Area of shape (4 x 5 = 20) [1] If drawn incorrectly award mark if
Answer = 20 cm? correctly calculated from student diagram
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rrrrr i B R W R [1] Straight line drawn crossing the y-axis
aty =10

[1] gradient of —5 ( for every 1 across line
should go down by 5)

[1] both correct thus line of y = —2x +
10 drawn accurately
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1 3 [1] correctly plotted line

[1] identifying the y-intercept as —1.5

-1

The equation of the line was interpreted incorrectly as it
7(a) | was not arranged into the formy = mx +¢ [1] Correct statement
i.e. Adam incorrectly assumed the gradient was —2

7(b) | Adam has in fact plotted the line y = —2x + 3 [1] Actual line drawn
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I/ \ [1] Straight line drawn crossing the y-axis
5 aty =3
7(c) . .
[1] gradient of +2 ( for every 1 across line
s 1T should go up by 2)
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[1] Straight line drawn crossing the y-axis
aty = -3
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4 [1] Same line drawn with a gradient of
3 + 1.5 (for every 1 across line should go up
2
1

by 1.5)
8(a) [1] Straight line drawn crossing the y-axis
6 543 210 1/2 3 4 5 6« aty = +3
- [1] Same line drawn with a gradient of
. + 0.5 (for every 1 across line should go up
W, by 0.5)
-6
8(b) | The two lines intersect at the co-ordinates (6,6) [1]
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® [1] for x = —3 line
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1 [1] fory = 3line
9(a) . 1 1
6 5 -4 B 10|l 1 2 3 4 5 6 x | [1]forrearrangingto y =-x+-
-1
-2 [1] for plotting y = %x +% line
-3
-4
-5
-6
Any co-ordinate that is inside the region bounded by the
9b) | - (1]
lines e.g. (—2,1)
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